
SAP ABAP table CKIUSER {Header String for USER EXIT}

CKIUSER

KALNR [NUMC (12)]

BWVAR [CHAR (3)]

MATNR [CHAR (18)]

WERKS [CHAR (4)]

BWKEY [CHAR (4)]

BWTAR [CHAR (10)]

KOKRS [CHAR (4)]

MEINS [UNIT (3)]

KALSM [CHAR (6)]

KLVAR [CHAR (4)]

KOSGR [CHAR (10)]

ZSCHL [CHAR (6)]

TYPE [CHAR (18)]

PR_VERID [CHAR (4)]

TPVAR [CHAR (3)]

KURST [CHAR (4)]

MGTYP [CHAR (5)]

SICHT [NUMC (2)]

BUKRS [CHAR (4)]

WAERS [CUKY (5)]

WAERS_KO [CUKY (5)]

WAERS_ANZ [CUKY (5)]

CKHS

MANDT [CLNT (3)]

LEDNR [CHAR (2)]

BZOBJ [CHAR (1)]

KALNR [NUMC (12)]

KALKA [CHAR (2)]

KADKY [DATS (8)]

TVERS [NUMC (2)]

BWVAR [CHAR (3)]

KKZMA [CHAR (1)]

 CKIUSER-KALNR = CKHS-KALNR 
{0,1}

1

CKMLMV006

MANDT [CLNT (3)]

MGTYP [CHAR (5)]

 CKIUSER-MGTYP = CKMLMV006-MGTYP 

0..N

0..N

MARA

MANDT [CLNT (3)]

MATNR [CHAR (18)]

 CKIUSER-MATNR = MARA-MATNR 

0..N

0..N

 CKIUSER-TYPE = MARA-MATNR 0..N

0..N

MKAL

MANDT [CLNT (3)]

MATNR [CHAR (18)]

WERKS [CHAR (4)]

VERID [CHAR (4)]

 CKIUSER-PR_VERID = MKAL-VERID 
0..N

0..N

T001

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

 CKIUSER-BUKRS = T001-BUKRS 
0..N

0..N

T001K

MANDT [CLNT (3)]

BWKEY [CHAR (4)]

 CKIUSER-BWKEY = T001K-BWKEY 
0..N

0..N

T001W

MANDT [CLNT (3)]

WERKS [CHAR (4)]

 CKIUSER-WERKS = T001W-WERKS 
0..N

0..N

T006

MANDT [CLNT (3)]

MSEHI [UNIT (3)]

 CKIUSER-MEINS = T006-MSEHI 
0..N

{0,1}

T149D

MANDT [CLNT (3)]

BWTAR [CHAR (10)] CKIUSER-BWTAR = T149D-BWTAR 0..N

0..N

T683

MANDT [CLNT (3)]

KVEWE [CHAR (1)]

KAPPL [CHAR (2)]

KALSM [CHAR (6)]

 CKIUSER-KALSM = T683-KALSM 
0..N

0..N

TCK03

MANDT [CLNT (3)]

KLVAR [CHAR (4)]

 CKIUSER-KLVAR = TCK03-KLVAR 

1

1

TCK05

MANDT [CLNT (3)]

BWVAR [CHAR (3)]

 CKIUSER-BWVAR = TCK05-BWVAR 

{0,1}

1

TCK14

MANDT [CLNT (3)]

BWKEY [CHAR (4)]

KOSGR [CHAR (10)]

 CKIUSER-KOSGR = TCK14-KOSGR 

0..N

0..N

TCKH8

MANDT [CLNT (3)]

SICHT [NUMC (2)]

 CKIUSER-SICHT = TCKH8-SICHT 

0..N

0..N

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

 CKIUSER-WAERS = TCURC-WAERS 

0..N

0..N

 CKIUSER-WAERS_ANZ = TCURC-WAERS 

0..N

0..N

 CKIUSER-WAERS_KO = TCURC-WAERS 

0..N

0..N

TCURV

MANDT [CLNT (3)]

KURST [CHAR (4)]

 CKIUSER-KURST = TCURV-KURST 

0..N

0..N

TKA01

MANDT [CLNT (3)]

KOKRS [CHAR (4)]

 CKIUSER-KOKRS = TKA01-KOKRS 

0..N

0..N

TKZSL

MANDT [CLNT (3)]

ZSCHL [CHAR (6)]

 CKIUSER-ZSCHL = TKZSL-ZSCHL 

0..N

0..N

TPVAR1

MANDT [CLNT (3)]

KOKRS [CHAR (4)]

VARIANT [CHAR (3)]

 CKIUSER-TPVAR = TPVAR1-VARIANT 

0..N

0..N


